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1. Calculate the number of kilocalories necessary to raise 250 g of water from 19.6 to 68.8°C.
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N 2. Calculate the mass of a piece of copper that released 125 calories when cooled from 100.0°C

to 25.3°C. The specific heat of copper is 0.00924 cal/g X °C.
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3. Find the specific heat of an unknown metal if a 35.5 g sample at 99.6°C produced a result-
ing temperature of 26.1°C when placed in a calorimeter containing 100.5 g of water at
20.2°C. '
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A 65.0 g sample of zinc (specific heat = 0.0922 calfg X °C) was cooled from 100.0°C to
29.4°C in 4 calorimeter cup contammg water initially at 21.5°C. Find the mass of water in

the cup.
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(optional) Ignoring any heat loss to the surrounding environment, calculate the theoretical
_maximum temperatirre produced in a calorimeter containing 95.5 g of water at 20.8° C after
a 95.0 g sample of aluminum (specific heat = 0.215 cal/g X °C) at 98.6°C has been intro-

duced.
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